FHCERRALER (1))

TH4 | R2BE gERJI BIE - BB FIILE (2) HEX Sy A7) /45 - 1
THEXsy G-
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
G- (REAID)
= 1
)+
= 1
A T
= 1
el TR R, BT ERLLAS O
L), il R B (R )
m3 60
(==
= 1
PRAE D TE
m3 70
HIR L TE
m3 30
T
= 1
FE A (BLEE) R+ it TR 2 2. SmaARi
m3 10
FRTALET
= 1
R B G- EAIR Y L&)
m3 90

=N

pi




Jﬂﬂk
%35
i

itz (A1)

TH4 | R2BE gERJI BIE - BB FIILE (2) HEX Sy A7) /45 - 1
THEXSy G-
THX 5y - TAE - 85 - A5 Biks HAL i (ilAD) e (4m) KR S
7% LSy
m3 90
ST
= 1
(==
= 1
FLH IR
m2 7
vy =b7"my ) L (av ) =477 ny ) )
= 1
EV AR VARPY B 277 =M 1 18-8-40 (7 kF) , JEKHE : 43
cm, /) & 125cm
m 11
EV AR VARPYE 77wy 3K [T ey 1=350
m2 44
JIFA - FEARS (A7) Frem s AR RC-40
m3 24
Kk & VP65
m 5
H HikA
m2 2
Kt y)-h av9 )= Mg 1 18-8-40 (FIF)
m3 1
9 - TR I




Jﬂﬂk
%35
i

itz (A1)

TH4 | R2BE gERJI BIE - BB FIILE (2) HEX Sy A7) /45 - 1
THEXsy G-
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
HR[E & T
= 1
NI
= 1
hateyb
m 31
S T
= 1
HEE P BUE L T
= 1
FIFEEE L Ttk #2 Z A5 em AT (ZEf%)
m2 24
3y - U R AL ER G X 5y TG, Tk 5y
NV2)
m3 1
G N
= 1
T
= 1
el A, -7 b, L, ML, 5, 000m3
Al
m3 40
HERL T RSB BEIE ImPA_bAm oA
m3 40
5= TR I




FEER AL (R 1)
TH4 | R2BE gERJI BIE - BB FIILE (2) HEX Sy A7) /45 - 1
THEXsy G-
THX 5y - TAE - 85 - A5 Biks HLAZ i (ilAD) e (4m) KR S
{RK T
= 1
IRHEAR A
m 47
T 5
m2 2
[EREMNEE ¢
= 1
%
= 1
B
X 1
Bl
= 1
= 1
il (KL
X 1
S ¢
= 1
Bl E P
= 1
_ 4o L R




FEER AL (R 1)
TH4 | R2BE gERJI BIE - BB FIILE (2) HEX Sy A7) /45 - 1
THEXsy G-
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e

R 7N ]

= 1
— A B

= 1
Tl

= 1
THA B K OVl 5 T 2 Bl

= 1
L&

= 1

5 - TR I




